CHAPTER 6

6.5: Fab=671T, Fbc =600 C, Fac=1000 C = Fad, Fcd =200 T

6.10

6.15

6.23

FAB == FFH = 1500 Ib C;

Fac = Fcg = Fgg = Fcy = 1200 1b T:
Fgc = Fpc = 0; Fgp = Fpr = 1200 1b C;
FBE o= FEF = 60.0 lb C; FDE = T72.0 lb ; i

Fap = Fpy = 7.50 kips C; Foc = Feu = 4.50 kips T;
FBC = FFC = 4.00 klp? T; FBD = FDF = 6.00 klpS C;
FBE = FEF = 2.50 klpS T; F(;E = FE(; = 4.50 klpS T;
FDE = (.

F:\B = Fpr = 2.29 kN T; Fac = Frr = 2.29kN C;
Fgc = Fpg = 0.600 kN C; Fgp = 2.21 kN T;

Fgg = Fgy = 0; Fcg = 221 kN C;.

FCH = FE] = 1.200 kN C.

s

6.43 Fpp = 545kN C; Fpc = LOOKN T;

6.49

6.52

FDF = 10.48 klpS C; FDC = 3.35 klpS C;
FEC = 13.02 k'lpS i

Fge =346 kN T: Fey = 3.78 kN C;

!t =~ — RO 2

A, = 18kN—, A, = 20kN|: B = SkN—
C, = 9kN—, C, = 20 kN1



6.85a) Ax =-90 N, Ay = -45 N, Ex =-90 N, Ey = -45 N; b) Ax = 90 N, Ay = -
30N, Ex=90N, Ey=-30 N

6.95 (a) A=9821b7; B =9351bf; C = 733 Ibt.
(b) AB = +291Ib; AC = —72.7 Ib.

6.103: Dx = 22, Dy = 13.75, Bx = 10, By = 13.75 kN
564 Ib—.
832 1b - in..
45 44.8 kN.

6.153: T=9283 N, Ax=6628 N, Ay =-4538 N



